
Math 2374 - Quiz 7

Name:

Section:

Let S be the following piece of an inverted cone

z = 1−
√
x2 + y2 0 ≤ z ≤ 1

2
.

We give S the orientation for which the normal vector ~n points out of the cone.

1. This surface has two disconnected boundaries: the top and bottom circles. What is the orien-
tation on these two circles induced by the orientation of S?
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Consider the following parametrization of S:

Φ(z, θ) =
(
(1− z) cos θ, (1− z) sin θ, z

)
,

for z ∈ [0, 1/2] and θ ∈ [0, 2π].

2. Compute Tz × Tθ. Is Φ orientation preserving or reversing? Explain your answer.

3. Integrate the vector field V = x~i+ y~j over S
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